N of reconstructed tracks vs dR_] N of associated tracks (recoToSim) vs dR |

1%} 9]
x X
Q Q
g S. 4
210
=]
10°
10?
10
1
§=] o ¢
=] =
o1 T 3
4 14
2k
1 107 1
track min AR track min AR
| N of associated (recoToSim) looper tracks vs dR |
1%} [%]
2 2
g g
5 =
[} Q
2 ]
= 8107
=
=]
©

—=— DQM_original_step2__pt1000_etalp4tolp6
—— DQM_mKkFit_step2__pt1000_etalp4tolp6
—=— DQM_pixelCPETemplate_step2__pt1000_etalp4tolp6

107
ie] 3
T
24
0.5|
0 -3 2 1
X 1 10 10” 10° . 1
track min AR track min AR
[[N of reconstructed tracks vs dR(track jet) ] [N of associated tracks (recoToSim) vs dR(track.jet) |
2] F 1%} F
x o = o
[} L [*] L
g .. S. .
10°F 5 10°E"
F = F
10? E 10? E-
10F 10F-
o v
T
14
0,95 0,95
10 1072 107 10 107 107
track AR(track, jet, track AR(track, jet;

| N of associated (recoToSim) looper tracks vs dR(track jet) |

2] (%]
2 3
g 8
2 o
= 8107
=
=3
h=l
1072
107
L8 o
T 3
@ 24
0.5
. 0
107 1072 107 107 02 107

1
track AR(track, jet, track AR(track, jet;



	Contents
	Page 1


